POLYNOMIAL LONG DIVISION: SYNTHETIC DIVISION
exomple Q Divide:

D0V = 88 - 2 - S| x3-2x2-8x-35
P(x) = x3 - 2%2 - 3x + @ 57 py(x-5)
Xe2
<art J\ ?sﬁag
‘ y— @ Uy + 5 (X+2) X3 -2%X2-8X - wmu
- +
SN 5|1 -2 -8 -35
G@+ 213 -2x2- 3x + |0 " el
/j\|\/

wo' || S5 15 35

...V .—mm wmm Nmm Oa\

MULTIPLY ADD REPEAT MULTIPLY ADD REPEAT MULTIPLY ADD REPEAT...

ANSWER > X2+ 3X+/

©subtract |=— xw + MXN — ec;:mnoi:

- 3X

- -LUx2 - 8x . .
\ 1: write the known zero in the house /
Quadratic mX + _O 2: list out the oomm_o”mam N
Formula will find 3: E_zm down the 1% oom&_o_ma
— mx + _O 4: multiply the 1% coefficient by house number

_ _ — 5: write the product under the 2" coefficient
6: add down
7: repeat
8: use final numbers to write polynomial
/ 9: use the Quadratic Formula to find the other zeros
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